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Viethods to Overcome Cross-Over Distortion

METHODS TO OVERCOME COD

COD = i i i
occurs because 0.7V = Vgg of input signal is utilized by transistor for Jpg to become

forward bias and transistor to conduct.
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. ¥ V,
(1) One method to overcome this to apply fz Ve to Vesh

bases of transistor. Now inithis case when Q, is —

. V, . v,
conducting K=K+—;’--E since $=Vu “-’_B;

v, =7, B

Same is for Q;. .. COD is eliminated. But this method suffers from one problem. As
temperature increases, Vpg decreases, Ip increases, Ic increases, Pp in transistor in
form of heat increase, further I- increases due to thermal vanation. This process

continues & transistor enters in thermal run away & finally gets damaged. 4y
(2) To overcome above problem diode biasing is used as R
shown. In the -circuit diodes are having same 1 1
temperature coefficient, for Vp 35 th;.t ;)’f ":;35. In olh:r R - )
words as temperature increase, Vpg p decreases by |
same amount. ' v I tries to vn_ s
perature increases, Vpe decreases, ls v, : 1
mtﬁ at the same time Vp also decreases by - vD'S.[ L
same amount hence Ip increases. This keeps Ip constant - =L
and avoids thermal runaway. e Se B - -""—t L
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-lass AB Power amplifier
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Resistor Biased Class AB — Push Pull PA

+¥ee
i R & Operating Curve
I\
Resistor Y
Biasing
'R,
| : === === g ———-
5 TR A T, C A
I 22—
Signal - R
| R L
|R' N .
Resistor | Bias
Biasing : T | |n|1|'[

PNP

5?.?‘- https://www.electronics-tutorials.ws/amplifier’amp25.gif
‘olis”

y -l

Scanned with CamScanner



